
 

Item number Item description Current inventory 

253-A HD car. quick coupling 2 

B2-06 Copper sealing ring for 3/8 
"SAE 

6 

NRS4 3/8X6MM Union nut 10 / 6mm 11 

MV-1818 Schrader neck, 7/16 "UNFx1 
/ 8" NPT 

6 

84617-E-N empty Cases 10 

MV-9616 Screw Tee, 1/8 "NPTx7 / 16" 
UNF 

2 

NRS4 1/2X10 Union nut 12/10 mm 20 

MIR-1 Telescope Compact Mirror 
32 mm 

2 

CTP1 capillary pipe cutters 2 

U3-04B screw clip 1/4 "SAE outside x 
1/4" NPT female 

4 

WK-07L ND-valve for pressure gauge 2 

UR3-0046 Reducing 1/4 "SAE i x 3/8" 
SAE a 

4 

DGT-1415C Digital Pocket Thermometer 
-50 / + 150 ° C 

1 

PPL-10 Clamping pliers 3 

MIR-2 Telescope Compact Mirror 
52 mm 

3 

WK-07H HD valve for pressure gauge 
NLA 

3 

P2-08 Plug 1/2 "SAE 13 

U4-04 Connecting sleeve 1/4 "SAE 8 

MV-1414 Schrader neck, 7/16 "UNFx1 
/ 4" NPT 

3 

MV-3813 Universal valve core 
remover 

2 

FC-351 fin comb 4 

16-C Quick coupling, straight 1 

U2-08 Connection nipple 1/2 "SAE 
3/4 UNF 

18 

MV-3814 Universal valve core 
remover 

10 

PSBD-606M Dual pressure switch HD Res 
ITE as KP15 

1 



 
 

NFT5-6 Cap nut 3/8 "SAE 18 

PSBS-04 Low pressure switch ITE as 
KP1 

2 

U4-06 Connecting sleeve 3/8 "SAE 10 

MV-9615 Screw tee, 7/16 "UNFx1 / 4" 
NPTx7 / 16 "UNF 

5 

UR3-0064 Reducing 3/8 "SAE i x 1/4" 
SAE a 

8 

HDS-36-Y-V Filling hose 90 cm, 1/4 "SAE, 
valve 

3 

825-G-BC/247 ND gauge 1/8 "NPT R22 / 
134A / 404A / 407C 

3 

MV-9620 Screw tee, 7/16 "UNFx1 / 8" 
NPTx7 / 16 "UNF 

12 

U4-08 Connecting sleeve 1/2 "SAE 10 

2822-R600 Pressure gauge, 2 valves, 
R600a 

1 

ITE-XTRA-2 Spare parts kit for ITE-XTRA 2 

PSBS-10M High pressure switch reset 
ITE as KP5 

5 

823-G-BC/247 HD Gauge 1/8 "NPT R22 / 
134A / 404A / 407C 

4 

HDS-36-B-V Filling hose 90 cm, 1/4 "SAE, 
valve 

3 

2822-BC/247 Pressure gauge, case, 2 
valves 

1 

WS-55 Electronic charging scale up 
to 55 kg 

1 

  



 
 

 


